
 

l;=g ljlgof]lht lzif{s of]hgfsf] gfd 

 

ljlgof]lht /sd ?= 

 

1 
k"jf{wf/ ljsf; km^slznf vfg]kfgL of]hgf 1791000.— 

2 
k"jf{wf/ ljsf; kw]/frf}/ l;kf#f^ ;*s 

dd{t 2000000.— 

3 
k"jf{wf/ ljsf; j*f sfof{no Joj:yfkg   500000.— 

4 

k"jf{wf/ ljsf; PSn]j];L dflemufpF 
lkkn*f*f+ kw]/frf}/ ;*s 
;'wf/ sfo{s|d 

500000.— 

5 
k'jf{wf/ ljsf; uf]Ndfb]jL dlGb/ dd{t 

;'wf/ 500000.— 

6 
jftfj/)f tyf 
 ljkt Aoj:yfkg ljkb Aoj:yfkg 200000.— 

                    hDdf /sd ?= 5491000.— 
  

d]nDrL gu/kfnLsf 

gu/ sfo{kflnsfsf] sfof{no 

d]nDrL, l;Gw'kfNrf]s 

of]hgf tyf sfo{s|dsf] ljj/0f 
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